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Which is the first defense your body has against infectious disease? | ¢ dusall (ala¥) sia dlaad J@¥) ol Jad iy (L Laa (g

L i g Out C d
o BI03.1.01.089
a. .
. .
: .
d_; Your skin ENN (] .

S Slipadl) dsjlas 36 Jra il O gaal) O grdll) G ag
sl BaE ajs A daall Ay AIOU Gass 458 ) gl
LBl B Al B g dae)

Ga o8 i O gSlgtion ol Capalipl) &) cdlld ) ALyl

8 Oghay ABCA Cliall Aujlas LS (VO, peak) cuanst)
NUTT X PRt

S s DAy IO Gana ASe G O giald) O lE Sl
cadil) (S Cpadallly O gapia Vg Aland) o O gilay cudl) 3L
i ) (VOpeak) uansy) ddlgin) (o) dal) s L
faiacall cuibeaa) A8 ol LI Jasa 46 i

Jolie 3 SLSWI aac
OeomnanSH 2 g
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Which of the following antigens initiates allergic reaction  auailly (Al Gans cuead I3 2cal) Shilga (a of
upon exposure to some kind of pets? Ay cllgall gand Gapdll xo

L AR

”
o) 0 BT ()

Learning Outcomes Covered F
o BI0.3.1.01.087

When some medical tests were done on a person, it was Al gt e gadil Akl Ll s el 26
found that he was suffering from an inflammation in which the Saliaal) alual) dd aalgs lgal) e il
antibodies were attacking the heart valves and resulting in damage, Sigdag g by A ‘__;.\i Las il Slalaa
leakage and affecting the valves’ ability to close properly during adll dga oLl P a ISy D) a3 g e
blood movement across the heart. wolddll e
Which disease would you expect this person to have? foaddll 1ia al 0% o 2855 g ajall Lad

Learning Outcomes Covered ‘

o BIO.3.1.01.087

Angina pectoris i .,.\.an Zal

p. || Arteriosclerosis Oyl bl
C

: Lupus il

! Rheumatic fever Laajilag )V panll
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Which of the following pair of terms is mismatched? | 4, aa @5 & 4000 Clalhoad) Ewi o

‘ Learning Outcomes Covered l

‘ o BI0.3.1.01.045

The skull, sutures iyl ciananl)

b shoulder, ball-and-socket joint ‘_,h.ll S8 Jeaidl i)
<. || knee, hinge joint Sl Juatall S0
d'i Ankles, pivot joint Gypaall ek ¢ Jaldl

n

‘ Learning Outcomes C i

° BI0.3.1.01.056

.|| When grooves in the epidermis gather dirt Bl 2lal 8 2Ll aes e

When hair follicles grow inward rather than dalall ) gl ellaay gaii Laxic

outward ol I san o e VY

When there is an excess of keratin produced Ol e 830} daa€ ) o Lo

When sebaceous glands become clogged Aol duaall 2l il Latie

Which requires (ATP)? | ¢ (ATP) Glawgil) 30 Gaugiasl 3gag calliy b Laa (gl

‘ Learning Outcomes Covered l

o BlO.3.1.01.056

a. || Muscle contraction Coldaall bl
b Muscle relaxation clatll Ll

Neither muscle contraction nor relaxation Ledabial W wOliaall il Y

C.

Both muscle contraction and relaxation Lebabiaily Bl bl

d.i




The figure below is an illustration of an antibody, study it el aline gl asings puy Jiay oLl JS2
and answer the question: ) o al A

What do the letters (A) and (B) represent?  (A) @) (A) £(B) 3 (A) il s hila

() ©

Learning Out Covered

o BI0.3.1.01.088

(A): Antigen binding site and (B): Light chain gt Al 3(B) 5 sl g sl adsa 1(A)

(A): Heavy chain and (B): Antigen binding site ) Agay Bl adse (B) 5 Akt Alubis :(A)

(A): Light chain and (B): Antigen binding site Sall Mgas LY adse 1(B) 5 3kis Al 1(A)

(A): Antigen binding site and (B): Heavy chain ALt Al 1(B) 5 2all Age syl adsa (A)

The figure shown below illustrates the two main layers lagiag) L6 dall Coalad) cpidal) oliaf JSAN gl
of skin as seen through a microscope. Study it and then 15l o8 cal a T ddnal ¢ gaal) A e
answer the question: which letter of the following refers O O3 gl adgall () judy i Laa in 4?
to the site that stores fat and helps the body retain heat? ihall days B L aual) Sl

 Learning Outcomes Covered %

o BIO.3.1.01.056
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The figure below shows the steps of Bone Repair, study it and (sl e h,..)i ,.‘ dindl calinl) aaa Cighd gl sl JS&l
then answer the question: which of the following is the correct Sakial) daa3 dles Sighal el Qi 9.\.". Laa ‘éi
order of the bone regeneration steps?

e AL N TP
Spongy bone  Callus

Learning Outcomes Covered -

o BIO.3.1.01.049

T
ISSEw
B wp C mup A

Which of the following is not one of the benefits of the booster shots of kil 3 el Sl al) MG e e ‘-,lg Laa Lﬁgﬁ
vaccination against Corona virus disease shown in the figure below? il JEAN A el Lig g8 (s (g s 2a

A

Learning Outcomes C

‘ o Bl0.3.1.01.089

. Creating active immunity Aeld dole (o

b Increasing immune response Go bl L) 5al)

providing further protection against the virus gl 2l Aleall e i) i

d.s

LS ilel s sl delao



Ihe tigure below Is lllustration of Specitic Immune A gl g pey Jiag LY JSI)
Responses, study it and then answer the question: 1) 06 o dugpal cdaadial) A lial

what do the letters (x) and (z) represent? » S £(2).5 (%) ol s ik
cells divide 1\

Yy @

(X) @)

‘ Learning Outcomes C al

o BIO.3.1.01.089

(X): Antigens and (Z): Memory cells 5813 WA 1(Z) 5 2ca idlga 3(X)

AL B LA 1(2) 5 s 2 alga 2(%)

Which of the following common ways of transmission do gl 4 el A0 A8 G5 g
the humans acquire the coronavirus through? thg pap

Learning Outcomes Covered

o Bl0.3.1.01.087

b Mosquito bites

. Sick animals

4.1 Contacting infected humans Oaleadl) ady !

-
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The figure below shows some joints of the skeletal system. q'.K“.\\ Sl dalda ey ek sl Jeal

Study it and then answer the question: ) (6 i o dlna
Which letter of the following represent a gliding joint? A Jada ) i q.l,, Laa i 4‘

a) (8)

? Learning Outcomes Covered lf

o BIO.3.1.01.060

Lbemcccmcccccc e e e e == = e

The figure below shows the structure of a myofibril, study it and a \.sp P 9.\.49 il S Jay oliaf S

then answer the question: which of the following indicates where Ol el A a6 10l 8
the actin filaments are attached within the myofibril? ?‘!l.ad\ il Jais ot dagad 4d g 3l

Mline M Ls  Z Jas ZLine

Myosin(thick)

epen o ges-

(ases)

058] Joges

(220,
Actin thin .

? Learning Outcomes Covered If

o Bl0.3.1.01.060

.| Abond A Lyl

g M line

é Sarcomere

r--

! .
d-f Z line

e

e e e ———————————— P — = 3 : 4 - ———— - =

LS ilel s sl delao



Which of the following would cause fatigue in the body of a . . )
falighll Cililaall elac TS| FETINTIN TR PV
long-distance runner? gl # pan Bl s s L

‘ Learning Outcomes Covered l

‘ o BI0.3.1.01.056

N Decrease of fermentation energy el 2l jalid)

Excess ATP created in muscle cells diaa) DD 3 ATP 2t 8y

Bl oY) G dany L

d.! Buildup of lactic acid in muscles il 2 IO e S5
|

‘ Learning Outcomes Covered l

‘ o BI0.3.1.01.056

5, [ Sweat and oil glands sl saally Bjall 22
b

.| Nerve cells Lpeand) LA

a1 Fatcells dgad) Ll

Which is not part of the axial skeleton? | £saall JSigh ¢ 1ein g (i ua ¢

Learning Outcomes Covered

o Bl03.1.01.060

Vertebral column

G




Which of the following describes diseases that are s dus il Bagagall Y iy s aa

continually found in small percentage within the population? taglayl delaall Jala

Learning Outcomes Covered

o Bl0.3.1.01.087

Use the diagram below to answer the question: gl oo Lle;llgm pl) padiud
Which of the following is a characteristic of the Spgaal) Al udiy 53 Aalindl 3 Aaas g8 o baa g

portion of the bone indicated by the arrow?

‘ Learning Outcomes Covered l

o BIO.3.1.01.045

It contains no living cells.

Osabiall e dlalnie Lakail s O

C

d It is the only type of bone tissue in long bones. gl Al & Spasall dall ) po

LS ilel s sl delao



A A0 ) s sty gal ga
Sl £l (e gl

Which of the following human body systems and organs
does the Rabies virus affect?

Learning Outcomes Covered I

o BI0.3.1.01.087

N Respiratory system il Sleal
b. || The skin i
¢.| Blood and liver 280l 2l

d E Nervous system gnardl Jlgal
to an antigen exposure. folial JSi A (A) dial) ey e
What does the letter(A) refer to in the figure below?
{
e
i
i
._;
Learning Outcomes Covered I -
o BI03.1.01.089
a. = 5
b. >
. L
| Memory B cell B sl WIs

d.!

LS ilel s sl delao



In the figure below, the activated helper ilatid) 5 luadd) T DAY pdli bl JS& o

T cell presents a processed antigen Wl dbiia AW T LAY Y s 2 g

to the Cytotoxic T cell activating it to divide and secrete..............  crirrrrr———— Ay ek
el 2l 2 ga

I8 T At

killer T cells m T sl
Helper T cell

_

b. Interferon

Acetylcholine

C.

Learning Outcomes Covered I

¢ Bl03.1.01.089

». || Antigens

Allergens

b,

. Antihistamines

i
d.

LS ilel s sl delao



The figure below represents the structure of the muscle fiber.  caf o faa A lial) il Cugs Jhay oliaf Jeib
Study it well and then answers the question: gl o
Which letter of the following refers to the mitochondria? gl () ads b laa i ‘;‘

(B)

' Learning Outcomes Covered 1[

o BIO.3.1.01.060

S S e e e e T s e T S O R S S S o s e R S S e e e e e e S S T S R S e e e e e e S e s c e n s Ts et 2 =
The figure shown below illustrates the two main layers of skin as Lagiagy 6 alall cpiunalad) couial) oliaf SN gl
seen through a microscope, Study it and then answer the question : 1) o8 al a T dlad ¢ el DA e
Which letter of the following refers to the site contains keratin? foailasll Ao (Sgian (Al adgal) () sad sl i ,_.;t

Hair

Sweat
m'mm

Learning Outcomes Covered IT

o BIO.3.1.01.056
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The below graph shows the immune responses to -‘1!4 ) 36 Aus Ual) Alaiud) Sbul) awel 1ia gl
exposure to an antigen. which letter of the following Sigils A lia Alatad) ) ud u-L‘ Las i (g .u!l
indicates a secondary immune response? i ) :

Immune response

antibody level
Af—
‘_
eall § dalall plaan ¥ gpine

Learning Outcomes Covered I

‘ o BI0.3.1.01.089

Which of the following muscles shown below Clall o il sl diall CBLial) (e (g
are classified as voluntary muscles? iy

(A) (8)
o BIO.3.101.056

. The muscle type shown in B B au)ll o Crsall dlaall £ 43
b, The muscle type shown in C C?uﬂqédgphu.adl&,s

c The muscles type shown in B and C -

Learning Outcomes Covered I




|How does the skin regulate body temperature? Sawiall Bl dajs aubili o alad) aoluy uﬁ‘

| Learning Outcomes Covered I

‘ o BIO.3.1.01.056

By regulating fat content in the epidermis Sl B el ggaall alaii BA (e

|Which of the following pair of terms is matched? Cdans aa (381500 A0 clalbaall £s5f ca gl

‘ Learning Outcomes Covered I

o BIO.3.1.01.045

a wrist, pivot joint Sysaall Juaiall o a5l

b, shoulder, hinge joint Sl Jeaatall Sl

knee, ball-and-socket joint Al gg 8l Latal (28

LS ilel s sl delao



Where are lymphocytes produced? Sadalll LAY gl ol

‘ Learning Outcomes Covered l

o BIO.3.1.01.089

Spleen

b.

C.
4. Bone marrow plaall g las
Which of the following is not considered as a chemical barrier? Pagileanl) Jalsall e el i Laa ,51
‘ Learning Outcomes Covered I

‘ o BI0.3.1.01.088

b. Salvia el

c

.| Skin cell Aa s ()
Antibodies are made of two light protein chains and two heavy Cldd Oagn o4 Odlada e 5alaall ,Lug‘li O35
protein chains. If the molecular weight of a light chain is Al al) 058 &y 1) JeBS (g opa il
25,000 and the molecular weight of a heavy chain is 50,000. .50,0004L83 dlulidly 25,000 @il
What is the molecular weight of an antibody? falaall puaadl Susad) Ol Lad

‘ Learning Outcomes Covered l

‘ o BIO.3.1.01.087

a.[ 75000




The figure below represents the structure of the muscle fiber. a T diaas ) el S5 Sy SE AL )
Study it well and then answers the question: (e e ..,.g‘
Which letter of the following refers to the Nucleus of muscle cell? Caaliaall A3 B1gs N ud g"i Laa i ;;‘

(B)

\ l-:eaming Outcomes Covered f ‘
-
g <

- 154 haaiia i’" Acliall o cadaay) ia._ji ol (';:\l'l oLl Jgaall A ol
o Jelad)) s : doaadiall b dclially daadiall

sl ¥l Bl e e fJsaall A (B) 5 (A) cliad) Ju s

s sl (A)

(B) 5,505 axgs ¥
slgally alsdl Jots

L3 (pauais
T s aske
Al o

Gapa Alatal 1(B) 538010 :ma(A)

5503 2055 1(B) 5 Aol 255 Y £(A)

B dolia 1(B) 5 Alold dolia 3(A)

g i (A):Rapid response and (B): Memory 5813 225 1(B) 5 daspu Llandl 1(A) ° i
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Which of the following substances is released in the oabel Aulle ol puaal) B 50 A0 Sgal Ga (6]

body to cause most of the symptoms of allergies? $hsilal) )l

Learning Outcomes Covered I

o BIO.3.1.01.089

.
b, | Allergens duluadl cilalge
< || Acetyicholine o€ Jandy)
d-i Histamine
Which of the following antigens can lead to anaphylaxis dpala g ) S o oSy Al aall Cilalga Ga ;51
response and can be responsible for more fatalities (51 e A8 cldg s oo i[,j.ud dacluall yaady cala
compared to any other type of antigen’s allergy? ¢ AT dsulas g5
i i | . ,
(D) (©)
Learning Outcomes Covered |

‘ o BI0.3.1.01.087
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Which of the following best describes Corona disease? Plig e e Ay q]'-‘ Las (gl

‘ Learning Outcomes Covered l

o BIO.3.1.01.087

Endemic disease

b Epidemic disease s oA

It is transmitted by arthropods —lliadd) 3

C.

d'i Pandemic disease e g s (V)
Which of the following human body systems and organs A A0 L) pn elialy Sgal e
does the Chickenpox virus affect? ?Q..’L.l'u Goall g b

‘ Learning Outcomes Covered l

o BIO.3.1.01.087

R Respiratory system aitill Hlgall
b Nervous system il Slgall
C.

Blood and liver 281l 2t

a.| The skin L ¢
Which is a characteristic of fast-twitch muscle fibers? €Al Aoy diliaal) LY Gl G daw b L Laa @i
‘ Learning Outcomes Covered l

‘ o BIO.3.1.01.056

They contain more myoglobin than slow-twitch fibers oalaly) dida; Abiaall GLIYI (gga Lae Sl uglasast A€ o ggian

They have fewer mitochondria than slow-twitch fibers by iy aulaall GLIYI (ggias Laa Ji LynigSudl (e 220 o (ga3

LS ilel s sl delao



Which of the following is not a component of the lymphatic system? | falll lgad) liga Ga gl AU (4 ‘51

‘ Learning Outcomes Covered l

o BIO.3.1.01.089

. °

b °

8 °

e -
|What are the cells that remove old bone tissue called? “ € auail) q-'h"-“z-.uﬂ' L.'I;'J'T' q-“‘ LAY e l:\hl

‘ Learning Outl:nmescnmedl

o BIO.3.1.01.060

Osteoblasts

C.

EHELY ‘z,iLni:SAU.I Aolaa



Use the diagram below to answer the question: i) 08 Auladd JUN vl aadiul

Which of the following is a characteristic of the WA . - cs‘
?p‘.u“ v dalinl) gla daw
portion of the bone indicated by the arrow? o g he » "'J-

Learning Outcomes Covered I

‘ o BIO.3.1.01.045

It contains no living cells.

b. It contains bone marrow. bl g3l o spas
It is the only type of bone tissue in long bones. Alghll sl R dpasall dagll ol g g
d i It is made of overlapping osteon systems.
"1
v
The figure below shows some joints of the skeletal system. A lgal) Jualia i el olidl JSil)
Study it and then answer the question: e o8l A ddaal
Which letter of the following refers to the type of joint found KNV L'g:ﬁl atall g65 Al b el q;T
in the hips and shoulders? S eiSlly cpiddl) B
/ ]
A\ o
Learning Outcomes Covered I

‘ o BIO.3.1.01.060
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Which of the following diseases is shown in the picture below? ol 3) guall daags 400N (2l e (‘;T

Learning Outcomes Covered i

o BlO.3.1.01.087

b.

’
In the figure below, the macrophage presents the antigen T Adal) ) acall Alga daalldl A8 2085 ol acsd) ]
to the helper T cell by binding to a receptor on the helper B bwall T Adal) o uiesas ahy) Gok oF bl
T cell. What is the importance of this binding? €Ll ¥ 138 dsaal Lad
s
dpaaly
Tads
2 lsd Ll
Plas Helper Cell
Processed antigen \

Learning Outcomes Covered I

o BIO.3.1.01.089

R Helps the macrophage cell to divide plt¥l o Gl 280 el
b Converts antigen into processed antigen s 2 ga ) il Mgs Joas

Produces direct antibodies 5yiilas Balias \.L.@i 05

d.!

LS ilel s sl delao



The figure below shows the structure of a myofibril, ol T i e Ll 5 Sy ol S

study it and then answer the question: (sl co
Which of the following refers only to myosin filaments? Shaid Caugaal) Bgid ) oade A Laa gi

Myosin(thick) : ‘
Opsgon dogoin Vh‘
(as0)
eS| - —
. = Alac daled
Actin thin Sarcomere

Learning Outcomes Covered -

o BIO.3.1.01.060

Jolis 3 LS o Bl iyl dugslan 6 Jora ol O gaall O gaialil) B an
eSS 31 & Ngo! laan e L A Aapall LAy SIS Gaea A58 ) gl
LDl B )l A g elie)

Ga o el O gslgin A il &l ) ALyl

81 O g ag AECAN Cliall dulas s L3T (VO, peak) cuawsy)
Ol a2

S Y gy IO Gaea A58 o O ghald) O A8
dop il (S adalilly gy Vg Aacd) (e Ol gl 3L
Ga 2 ¢ Guball) Gaslas ¥y Adawalls Giluns adlll (S i
LI dad o 0 il g (VO, peak) coansY) gt

VO,peak (%)

NETS PRI Ol J)
A Watching sports programs dadaliyl) malyall 5an Ll
b. [ Too much relaxation 2150 ela L
. Increasing fat intake Gsaall Jolo 5ol
d i Taking in more oxygen &Y ey
"1

LS ilel s sl delao



What could be inferred from suntans? Cobandl Sl papes aie JYLLN) (Sa e

Learning Outcomes Covered I

‘ o BIO.3.1.01.056

Tanning strengthens the elastic in the skin Tagaie dlessd calall A5 ya (e Aladl jlacd j3e

making the skin feel tight

Tanning promotes skin that has a more youthful LuLu.n 1)41;... Aall el i

appearance

C.

Sunning for the purpose of tanning produces il peldl GlaaSl g eedll G gl o)
healthier skin PYSEPURPERI NN

The figure below shows synthesis and Repair of bone, cadial (NS albiell o€l ek ol Jeai
study it and answer the question: ) 8 caal Al ddead
Which letter of the following refers to callus? Calliel) Ly ) el gjg Laa cijm s.fi

Learning Outcomes Covered I

o Bl0.3.1.01.049
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